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1. ‘‘Right of mortgagor to redeem’’ is given

under which Section?

(A) 54

(B) 56

(C) 60

(D) 61

2. Mortgagee right to fore closure is given

under which Section?

(A) 67

(B) 68

(C) 69

(D) 70

3. ‘Right to sue for mortgage money’ is given

under which Section?

(A) 64

(B) 65

(C) 66

(D) 68

4. ‘Marshalling of securities’ is given under

which Section?

(A) 81

(B) 84

(C) 86

(D) 82

5. Which one of the following Section is related

with the persons who may sue for

redemption?

(A) 94

(B) 95

(C) 91

(D) 90

1. ^^ekspu dk ca/kddrkZ dk vf/kdkj** fdl

/kkjk ds vUrxZr fn;k x;k gS\

(A) 54

(B) 56

(C) 60

(D) 61

2. ca/kddkj dk iqjksca/k dk vf/kdkj fdl /kkjk

ds vUrxZr fn;k x;k gS\

(A) 67

(B) 68

(C) 69

(D) 70

3. ^ca/kd /ku ds fy, okn ykus dk vf/kdkj*

fdl /kkjk ds vUrxZr fn;k x;k gS\

(A) 64

(B) 65

(C) 66

(D) 68

4. ^izfrHkwfr;ksa dk Øeca/ku* fdl /kkjk ds vUrxZr

fn;k x;k gS\

(A) 81

(B) 84

(C) 86

(D) 82

5. fuEufyf[kr esa ls dkSu&lh /kkjk mu O;fDr;ksa

ls lEcfU/kr gS tks ekspu ds fy, okn yk

ldrs gSa\

(A) 94

(B) 95

(C) 91

(D) 90
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6. Exchange is defined under which

Section?

(A) 117

(B) 118

(C) 119

(D) 120

7. Provisions related to gift are given under

which Section?

(A) 122 to 129

(B) 117 to 121

(C) 105 to 117

(D) 58 to 104

8. ‘Donor’ is defined in which Section?

(A) 122

(B) 123

(C) 124

(D) 125

9. Section related to universal donee is:

(A) 127

(B) 128

(C) 129

(D) 130

10. Onerous gift is given under which Section?

(A) 124

(B) 125

(C) 126

(D) 127

6. fofue; dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 117

(B) 118

(C) 119

(D) 120

7. nku ls lEcfU/kr izko/kku fdl /kkjk ds vUrxZr

fn;s x;s gSa\

(A) 122 ls 129

(B) 117 ls 121

(C) 105 ls 117

(D) 58 ls 104

8. ^nkrk* dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 122

(B) 123

(C) 124

(D) 125

9. loZLo vnkrk ls lEcfU/kr /kkjk gS %

(A) 127

(B) 128

(C) 129

(D) 130

10. nqHkZj nku fdl /kkjk ds vUrxZr fn;k x;k gS\

(A) 124

(B) 125

(C) 126

(D) 127
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11. Ramkumar Kundu vs. Macqueen’’ case is

related with Section :

(A) 40

(B) 41

(C) 42

(D) 43

12. Which one of the following Section is related

with Doctrine of ‘‘Lis pendence’’?

(A) 50

(B) 51

(C) 52

(D) 53

13. Belami vs. Sebain case is related with

Section :

(A) 50

(B) 51

(C) 52

(D) 53

14. Which Section is related with fraudulent

transfer of property?

(A) 41

(B) 42

(C) 58

(D) 53

15. Which Section is related with ‘ ‘Part

Performance’’?

(A) 53A

(B) 54

(C) 56

(D) 57

11. ßjkedqekj dq.Mq cuke eSDohuÞ dk okn ls

lEcfUèkr /kkjk gS %

(A) 40

(B) 41

(C) 42

(D) 43

12. fuEufyf[kr esa ls dkSu&lh /kkjk ßyafcr oknÞ

ds fl)kUr ls lEcfU/kr gS\

(A) 50

(B) 51

(C) 52

(D) 53

13. ßcsykeh cuke lsckbuÞ dk okn ls lEcfU/kr

èkkjk gS %

(A) 50

(B) 51

(C) 52

(D) 53

14. dkSu&lh /kkjk lEifRr ds diViw.kZ varj.k ls

lEcfU/kr gS \

(A) 41

(B) 42

(C) 58

(D) 53

15. dkSu&lh /kkjk ßHkkfxd ikyuÞ ls lEcfU/kr

gS\

(A) 53A

(B) 54

(C) 56

(D) 57
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16. What is the date of enactment of Easements

Act, 1882?

(A) 17 February, 1882

(B) 18 February, 1882

(C) 19 February, 1882

(D) 20 February, 1882

17. How many Sections are there in Easements

Act, 1882?

(A) 64

(B) 65

(C) 66

(D) 67

18. Which Section of Easement Act is related

with acquisition by prescription?

(A) 17

(B) 18

(C) 16

(D) 15

19. How many Chapters are there in Easement

Act, 1882?

(A) 2

(B) 4

(C) 5

(D) 6

20. Which one of the following Section of

Easement Act is related with easement for

limited time?

(A) 5

(B) 6

(C) 7

(D) 8

16. lq[kkf/kdkj vf/kfu;e] 1882 ds vf/kfu;fer

gksus dh fnukad D;k gS\

(A) 17 Qjojh] 1882

(B) 18 Qjojh] 1882

(C) 19 Qjojh] 1882

(D) 20 Qjojh] 1882

17. lq[kkf/kdkj vf/kfu;e esa dqy fdruh /kkjk;sa

gSa\

(A) 64

(B) 65

(C) 66

(D) 67

18. lq[kkf/kdkj vf/kfu;e dh dkSu&lh /kkjk fpj

O;ogkj ds }kjk vokfIr ls lEcfU/kr gS\

(A) 17

(B) 18

(C) 16

(D) 15

19. lq[kkf/kdkj vf/kfu;e] 1882 esa dqy fdrus

v/;k; fn;s x;s gSa\

(A) 2

(B) 4

(C) 5

(D) 6

20. lq[kkf/kdkj vf/kfu;e dh dkSu&lh /kkjk lhfer

le; ds fy, lq[kkf/kdkj ls lEcfU/kr gS\

(A) 5

(B) 6

(C) 7

(D) 8
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21. Lease is related with :

(A) Movable property

(B) Immovable property

(C) Both (A) and (B)

(D) None of the above

22. In absence of contract or local laws or usage, a

lease of immovable property for manufacturing

purpose shall be deemed to be :

(A) A lease for year to year

(B) A lease for month to month

(C) Both (A) and (B)

(D) None of the above

23. A lease is year to year is terminable on the

part of lessor or lessee by notice in :

(A) One month

(B) One year

(C) Six months

(D) Three months

24. Termination of lease can be :

(A) Oral intimation

(B) Written intimation

(C) Both (A) and (B)

(D) None of the above

25. In which of the following Section an

amendment was made in year 2002?

(A) 106

(B) 101

(C) 102

(D) 103

21. iêk lEcfU/kr gS %

(A) py lEifRr ls

(B) vpy lEifRr ls

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

22. fdlh lafonk ;k LFkkuh; fof/k;ksa ;k izFkk ds

vHkko esa fofuekZ.k ds iz;kstukFkZ fdlh vpy

lEifRr dk iêk dSlk ekuk tk;sxk\

(A) o"kkZuqo"khZ iêk

(B) eklkuqeklh iêk

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

23. fdlh vpy lEifRr dk o"kkZuqo"khZ iêk iêkdrkZ

;k iêsnkj dh vksj ls fdrus fnu dh lwpuk

ij lekfIr ;ksX; gksrk gS\

(A) ,d ekg

(B) ,d o"kZ

(C) N% ekg

(D) rhu ekg

24. iêk lekIr fd;k tk ldrk gS %

(A) ekSf[kd lwpuk ls

(B) fyf[kr lwpuk ls

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

25. o"kZ 2002 esa fdl /kkjk esa la'kks/ku fd;k x;k

Fkk\

(A) 106

(B) 101

(C) 102

(D) 103
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26. lq[kkf/kdkj vf/kfu;e dh dkSu&lh /kkjk

vèkhuLFk Lokeh ls lEcfU/kr gS\

(A) 8

(B) 9

(C) 10

(D) 11

27. lq[kkf/kdkj izkIr fd;k tk ldrk gS %

(A) lEifRr ds Lokeh ds }kjk

(B) Lokeh dh vksj ls lEifRr ij dCtk

j[kus okyk dksbZ vU; O;fDr

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

28. fuEufyf[kr esa ls dkSu&lh /kkjk vko';drk

tfur lq[kkf/kdkj ls lEcfU/kr gS\

(A) 13

(B) 14

(C) 15

(D) 16

29. fuEufyf[kr esa ls dkSu&lh /kkjk izFkkxr

lq[kkfèkdkj ls lEcfU/kr gS\

(A) 18

(B) 19

(C) 20

(D) 17

30. fuEufyf[kr esa ls dkSu&lh /kkjk izR;kHkkf"kr

lq[kkf/kdkj ls lEcfU/kr gS\

(A) 10

(B) 11

(C) 12

(D) 13

26. Which one of the following Section of

Easement Act is related with servient

owners?

(A) 8

(B) 9

(C) 10

(D) 11

27. Easementry Right may be acquired by the :

(A) Owner of the property

(B) Any person on behalf of the owner

who holds the possession on the

property

(C) Both (A) and (B)

(D) None of the above

28. Which one of the following Section is related

with easement of necessity?

(A) 13

(B) 14

(C) 15

(D) 16

29. Which one of the following Section is related

with customary easement?

(A) 18

(B) 19

(C) 20

(D) 17

30. Which one of the following Section is related

with quasi-easement?

(A) 10

(B) 11

(C) 12

(D) 13
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31. A lease of immovable property from year to

year can be made by :

(A) Oral agreement

(B) Written agreement

(C) Written and registered agreement

(D) None of the above

32. Rights and liabilities of lessor and lessee

are given under which Section?

(A) 105

(B) 107

(C) 106

(D) 108

33. Determination of lease is given under which

Section?

(A) 109

(B) 111

(C) 112

(D) 113

34. Rights of lessor’s transferee are given under

which Section?

(A) 109

(B) 110

(C) 111

(D) 112

35. Effect of holding over is given under which

Section?

(A) 115

(B) 116

(C) 117

(D) 118

31. vpy lEifRr dk o"kkZuqo"khZ iêk fd;k tk

ldrk gS %

(A) ekSf[kd djkj }kjk

(B) fyf[kr djkj }kjk

(C) fyf[kr ,oa jftLVªhdr̀ djkj }kjk

(D) mijksDr esa ls dksbZ ugha

32. iêkdrkZ ,oa iêsnkj ds vf/kdkj o drZO;

fdl /kkjk ds vUrxZr fn;s x;s gSa\

(A) 105

(B) 107

(C) 106

(D) 108

33. iês dk i;kZolku fdl /kkjk ds vUrxZr fn;k

x;k gS\

(A) 109

(B) 111

(C) 112

(D) 113

34. iêkdrkZ ds varfjrh ds vf/kdkj fdl /kkjk

ds vUrxZr fn;s x;s gSa\

(A) 109

(B) 110

(C) 111

(D) 112

35. vfr/kkj.k dk izHkko fdl /kkjk ds vUrxZr

fn;k x;k gS\

(A) 115

(B) 116

(C) 117

(D) 118

[P.T.O.]
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36. Indian Easements Act came into force on :

(A) 1 July, 1882

(B) 5 July, 1882

(C) 1 September, 1882

(D) 2 September, 1882

37. Easements Act shall not affect the :

(A) Government rights

(B) Customary rights

(C) Pre-existing rights

(D) All of the above

38. Easement is defined under which Section?

(A) 2

(B) 3

(C) 4

(D) 5

39. Dominent heritage is defined under which

Section?

(A) 4

(B) 5

(C) 6

(D) 7

40. Servient Heritage is defined under which

Section?

(A) 2

(B) 4

(C) 6

(D) 8

36. Hkkjrh; lq[kkf/kdkj vf/kfu;e ykxw gqvk %

(A) 1 tqykbZ] 1882 dks

(B) 5 tqykbZ] 1882 dks

(C) 1 flrEcj] 1882  dks

(D) 2 flrEcj] 1882 dks

37. lq[kkf/kdkj vf/kfu;e izHkkfor ugha djsxk %

(A) 'kklu ds vf/kdkj

(B) izFkkxr vf/kdkj

(C) iwoZ eas izkIr vf/kdkj

(D) mijksDr lHkh

38. lq[kkf/kdkj dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 2

(B) 3

(C) 4

(D) 5

39. vf/kHkkoh nk; dks fdl /kkjk ds vUrxZr

ifjHkkf"kr fd;k x;k gS\

(A) 4

(B) 5

(C) 6

(D) 7

40. vf/klsoh nk; dks fdl /kkjk ds vUrxZr

ifjHkkf"kr fd;k x;k gS\

(A) 2

(B) 4

(C) 6

(D) 8
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41. ‘Subrogation’ is given under which Section

of Transfer of Property Act?

(A) 80

(B) 81

(C) 91

(D) 92

42. Provisions related to the exchange are given

under which Section?

(A) 118 to 121

(B) 119 to 121

(C) 117 to 121

(D) None of the above

43. Lease is defined under which

Section?

(A) 105

(B) 104

(C) 103

(D) 102

44. Lessor is defined under which

Section?

(A) 101

(B) 102

(C) 103

(D) 105

45. Lease is a transfer of :

(A) A right to enjoy such property

(B) Ownership

(C) Both (A) and (B)

(D) None of the above

41. lEifRr varj.k vf/kfu;e dh fdl /kkjk ds

vUrxZr izR;klu dk vf/kdkj fn;k x;k gS\

(A) 80

(B) 81

(C) 91

(D) 92

42. fofue; ls lEcfU/kr izko/kku fdl /kkjk ds

vUrxZr fn;s x;s gSa\

(A) 118 ls 121

(B) 119 ls 121

(C) 117 ls 121

(D) mijksDr esa ls dksbZ ugha

43. iês dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 105

(B) 104

(C) 103

(D) 102

44. iêkdrkZ dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 101

(B) 102

(C) 103

(D) 105

45. iêk ds vUrxZr varj.k gksrk gS %

(A) ,slh lEifRr ds mi;ksx djus ds

vfèkdkj dk

(B) LokfeRo dk

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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46. Sale is defined under which Section?

(A) 54

(B) 55

(C) 56

(D) 58

47. Rights and liabilities of buyer and seller are

given under which Section?

(A) 53

(B) 54

(C) 55

(D) 56

48. Marshalling by subsequent purchaser is

given under which Section?

(A) 55

(B) 56

(C) 57

(D) 58

49. Mortgage is defined under which

Section?

(A) 58

(B) 54

(C) 53

(D) 51

50. ‘‘Simple mortgage’’ is given under which

Section?

(A) 58

(B) 57

(C) 56

(D) 54

46. foØ; dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 54

(B) 55

(C) 56

(D) 58

47. Øsrk vkSj foØsrk ds vf/kdkj ,oa nkf;Ro

fdl /kkjk ds vUrxZr fn;s x;s gSa\

(A) 53

(B) 54

(C) 55

(D) 56

48. ikf'pd Øsrk }kjk Øeca/ku fdl /kkjk ds

vUrxZr fn;k x;k gS\

(A) 55

(B) 56

(C) 57

(D) 58

49. ca/kd dks fdl /kkjk ds vUrxZr ifjHkkf"kr

fd;k x;k gS\

(A) 58

(B) 54

(C) 53

(D) 51

50. lknk ca/kd fdl /kkjk ds vUrxZr fn;k x;k

gS\

(A) 58

(B) 57

(C) 56

(D) 54
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51. Which one of the following section is related

with interpretation clause?

(A) 1

(B) 2

(C) 3

(D) 4

52. Instrument means :

(A) Testamentary Instrument

(B) Non-testamentary Instrument

(C) Both (A) and (B)

(D) None of the above

53. Attached to the earth means things :

(A) Rooted in the earth

(B) Embedded in the earth

(C) Both (A) and (B)

(D) None of the above

54. Immovable property includes :

(A) Standing timber

(B) Growing crops

(C) Grass

(D) None of the above

55. Attested means that instrument should be

attested by :

(A) Two or more witnesses

(B) Only one witness

(C) There is no need of witness

(D) None of the above

51. fuEufyf[kr esas ls dkSu&lh /kkjk fuoZpu [k.M

ls lEcfU/kr gS\

(A) 1

(B) 2

(C) 3

(D) 4

52. fy[kr ls vfHkizsr gS %

(A) olh;rh fy[kr

(B) volh;rh fy[kr

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

53. Hkwc) ls vfHkizsr gS ,slh oLrq;sa tks fd gSa %

(A) Hkwfe esa ewfyr

(B) Hkwfe esa fufo"V

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

54. vpy lEifRr esa 'kkfey gS %

(A) [kM+k dk"B

(B) mxrh gqbZ Qlysa

(C) ?kkl

(D) mijksDr esa ls dksbZ ugha

55. vuqizekf.kr ls rkRi;Z gS fd fy[kr vuqizekf.kr

gksuk pkfg, %

(A) nks ;k vf/kd lkf{k;ksa }kjk

(B) dsoy ,d lk{kh }kjk

(C) lk{kh dh vko';drk ugha gS

(D) mijksDr esa ls dksbZ ugha
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56. The rule of election is based on :

(A) Trust

(B) Equity

(C) Both (A) and (B)

(D) None of the above

57. Which one of the following Section is related

with that third person will be entitled for

maintenance on transfer of property?

(A) 13

(B) 14

(C) 39

(D) 40

58. ‘‘Tulk vs. Moxhay’’ case is related with

Section :

(A) 35

(B) 36

(C) 37

(D) 40

59. Which Section is related with transfer by

ostensible owner?

(A) 40

(B) 41

(C) 42

(D) 43

60. ‘‘Feeding the estoppel by grant’’ doctrine

is given under Section :

(A) 41

(B) 42

(C) 40

(D) 43

56. ^fuokZpu dk fu;e* vk/kkfjr gS %

(A) U;kl ij

(B) lkE; ij

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

57. fuEufyf[kr esa ls dkSu&lh /kkjk lEifRr ds

varfjr gksus ij vU; O;fDr ds Hkj.k&iks"k.k

ls lEcfU/kr gS\

(A) 13

(B) 14

(C) 39

(D) 40

58. ßVYd cuke eksDlgsÞ okn ls lEcfU/kr /kkjk

gS %

(A) 35

(B) 36

(C) 37

(D) 40

59. dkSu&lh /kkjk ^n`';eku Lokeh }kjk varj.k*

ls lEcfU/kr gS\

(A) 40

(B) 41

(C) 42

(D) 43

60. ßLohd̀fr }kjk focU/k ds iks"k.k* ds fl)kUr

ls lEcfU/kr /kkjk gS %

(A) 41

(B) 42

(C) 40

(D) 43
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61. Transfer of Property Act came into force in :

(A) 10th July, 1882

(B) 11th July, 1882

(C) 1st July, 1882

(D) None of the above

62. How many chapters are there in Transfer of

Property Act?

(A) 7

(B) 8

(C) 9

(D) 10

63. Chapter 7 is related with :

(A) Gift

(B) Mortgage

(C) Lease

(D) Sale

64. Which one of the following sections are

related with sale?

(A) 58 to 61

(B) 61 to 65

(C) 105 to 117

(D) 54 to 57

65. Transfer of Property Act enacted in which

year?

(A) 1882

(B) 1881

(C) 1880

(D) 1982

61. lEifRr varj.k vf/kfu;e ykxw gqvk %

(A) 10 tqykbZ] 1882

(B) 11 tqykbZ] 1882

(C) 1 tqykbZ] 1882

(D) mijksDr esa ls dksbZ ugha

62. lEifRr varj.k vf/kfu;e esa fdrus v/;k;

gSa\

(A) 7

(B) 8

(C) 9

(D) 10

63. v/;k; 7 lEcfU/kr gS %

(A) nku ls

(B) ca/kd ls

(C) iêk ls

(D) foØ; ls

64. fuEufyf[kr esa ls dkSu&lh /kkjk;sa foØ; ls

lEcfU/kr gSa\

(A) 58 ls 61

(B) 61 ls 65

(C) 105 ls 117

(D) 54 ls 57

65. lEifRr varj.k vf/kfu;e fdl o"k Z

vf/kfu;fer fd;k x;k\

(A) 1882

(B) 1881

(C) 1880

(D) 1982
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66. ‘A’ lets a farm to ‘B’ on condition that he shall

walk a hundred miles an hour. The lease

is :

(A) Void

(B) Voidable

(C) Both (A) and (B)

(D) None of the above

67. Which Section is related with ‘‘fulfillment of

condition precedent’’?

(A) 23

(B) 24

(C) 25

(D) 26

68. Which Section is related with ‘‘Doctrine of

Acceleration’’?

(A) 23

(B) 24

(C) 25

(D) 27

69. Which one of the following Section is related

with ‘‘fulfillment of condition subsequent’’?

(A) 29

(B) 30

(C) 31

(D) 26

70. Which one of the following Section is related

with ‘Rule of Election’?

(A) 31

(B) 32

(C) 33

(D) 35

66. ^ch* dks ^,* dksbZ [ksr iês ij bl 'krZ ij

nsrk gS fd og ,d ?k.Vs esa 100 ehy iSny

pysA iêk gS %

(A) 'kwU;

(B) 'kwU;dj.kh;

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

67. dkSu&lh /kkjk ßiqjksHkkO; 'krZ dh iwfrZÞ ls

lEcfU/kr gS\

(A) 23

(B) 24

(C) 25

(D) 26

68. dkSu&lh /kkjk ^^RofjrkfIr ds fl)kUr** ls

lEcfUèkr gS\

(A) 23

(B) 24

(C) 25

(D) 27

69. fuEufyf[kr eas ls dkSu&lh /kkjk ^^mRrjHkkO;

'krZ dh iwfrZ** ls lEcfU/kr gS\

(A) 29

(B) 30

(C) 31

(D) 26

70. fuEufyf[kr esa ls dkSu&lh /kkjk ^fuokZpu ds

fu;e* ls lEcfU/kr gS\

(A) 31

(B) 32

(C) 33

(D) 35
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71. Which of the following Sections are related

with general principles of transfer of movable

property?

(A) 5 to 37

(B) 55 to 60

(C) 38 to 53

(D) None of the above

72. Which Section is related with ‘‘Person

competent to transfer’’?

(A) 11

(B) 18

(C) 7

(D) 20

73. Under Transfer of Property Act, the word

person includes :

(A) Living person

(B) Company

(C) Association

(D) All of the above

74. Which one of the following Section is related

with ‘‘Operation of transfer’’?

(A) 11

(B) 12

(C) 8

(D) 9

75. Condition restraining alienation of property

will be :

(A) valid

(B) void

(C) illegal

(D) none of the above

71. fuEufyf[kr esa ls dkSu&lh /kkjk;sa py lEifRr

ds varj.k ls lEcfU/kr lkekU; fl)kUrksa ls

lEcfU/kr gS\

(A) 5 ls 37

(B) 55 ls 60

(C) 38 ls 53

(D) mijksDr esa ls dksbZ ugha

72. fuEufyf[kr esa ls dkSu&lh /kkjk ßvarj.k

djus ds fy, l{ke O;fDrÞ ls lEcfU/kr gS\

(A) 11

(B) 18

(C) 7

(D) 20

73. lEifRr varj.k vf/kfu;e ds vUrxZr O;fDr

'kCn esa 'kkfey gS %

(A) thfor O;fDr

(B) dEiuh

(C) laxe

(D) mijksDr lHkh

74. fuEufyf[kr esa ls dkSu&lh /kkjk varj.k ds

izHkko ls lEcfU/kr gS\

(A) 11

(B) 12

(C) 8

(D) 9

75. lEifRr dk vU;laØke.k vo#) djus okyh

'krZ gksxh %

(A) oS/k

(B) 'kwU;

(C) voS/k

(D) mijksDr esa ls dksbZ ugha
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76. ‘‘Rules against perpetuity’’ are given under

Section :

(A) 13

(B) 14

(C) 15

(D) 16

77. What are the exceptions of ‘‘Rules against

perpetuity’’?

(A) Transfer for advancement of religion

(B) Transfer for benefit of public health

(C) Both (A) and (B)

(D) None of the above

78. Doctrine of double possibility is related with

Section :

(A) 13

(B) 54

(C) 56

(D) 57

79. ‘‘Rule of accumulation’’ is given under

Section :

(A) 11

(B) 13

(C) 17

(D) 18

80. Income of the property can be accumulated

for the period of :

(A) The life time of the transferor

(B) A period of 18 years from the date

of transfer

(C) Both (A) and (B)

(D) None of the above

76. ß'kk'orrk ds fo#) fu;eÞ /kkjk ---- ds

vUrxZr fn;s x, gSaA

(A) 13

(B) 14

(C) 15

(D) 16

77. ß'kk'orrk ds fo#) fu;eÞ ds D;k viokn

gSa\

(A) /keZ ds mn~ns'; dks vxzlj djus ds fy,

(B) yksd LokLF; ds fy,

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

78. ßnksgjh lEHkkouk dk fl)kUrÞ èkkjk ----- ls

lEcfU/kr gSA

(A) 13

(B) 54

(C) 56

(D) 57

79. ßlap;u dk fu;eÞ /kkjk ------ ds  vUrxZr

fn;k x;k gSA

(A) 11

(B) 13

(C) 17

(D) 18

80. lEifRr ls gksus okyh vk; dks lafpr fd;k

tk ldrk gS %

(A) varjd ds thou rd

(B) varj.k dh rkjh[k ls 18 o"kZ rd

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
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81. Transfer of Property Act is related with the

transfer of :

(A) Movable property

(B) Immovable property

(C) Both (A) and (B)

(D) None of the above

82. How many sections are there in Transfer of

Property Act?

(A) 131

(B) 147

(C) 137

(D) 140

83. Transfer of Property Act deals with such

transfers that are made by the :

(A) act of the parties

(B) other than act of the parties

(C) law

(D) none of the above

84. Transfer of Property Act deals with transfers

done by :

(A) living person to another living

person

(B) living person to deceased

person

(C) Both (A) and (B)

(D) None of the above

85. What is the enactment date of Transfer of

Property Act?

(A) 16 February, 1882

(B) 17 February, 1882

(C) 1st July, 1882

(D) 2nd July, 1882

81. lEifRr varj.k vf/kfu;e lEcfU/kr gS %

(A) py lEifRr ds varj.k ls

(B) vpy lEifRr ds varj.k ls

(C) nksuksa (A) vkSj (B) ls

(D) mijksDr esa ls dksbZ ugha

82. lEifRr varj.k vf/kfu;e esa fdruh /kkjk;sa

gSa\

(A) 131

(B) 147

(C) 137

(D) 140

83. lEifRr varj.k vf/kfu;e ,sls varj.kksa ls

lEcfU/kr gS tks fd fd;k tkrk gS %

(A) i{kdkjksa ds dk;Z ds }kjk

(B) i{kdkjksa ds dk;kZsa ds vykok

(C) fof/k }kjk

(D) mijksDr esa ls dksbZ ugha

84. lEifRr varj.k ds vUrxZr fd;k x;k varj.k

lEcfU/kr gS %

(A) thfor O;fDr ls nwljs thfor O;fDr

dks

(B) thfor O;fDr ls e`rd O;fDr

dks

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

85. lEifRr varj.k vf/kfu;e ds vf/kfu;fer

gksus dh fnukad dkSu&lh gS\

(A) 16 Qjojh] 1882

(B) 17 Qjojh] 1882

(C) 1 tqykbZ] 1882

(D) 2 tqykbZ] 1882

[P.T.O.]
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86. Which one of the following Section is related

with ‘‘Transfer in perpetuity for benefit of

public’’?

(A) 18

(B) 17

(C) 20

(D) 19

87. If a property transfers to a unborn child he

will get upon his birth :

(A) Vested interest

(B) Contingent interest

(C) Both (A) and (B)

(D) None of the above

88. Which Section is related with contingent

interest?

(A) 17

(B) 18

(C) 19

(D) 21

89. Which Section is related with vested

interest?

(A) 17

(B) 18

(C) 19

(D) 20

90. Which Section is related with conditional

transfer?

(A) 20

(B) 24

(C) 26

(D) 25

86. fuEufyf[kr eas ls dkSu&lh /kkjk ßyksd ykHk

ds fy, 'kk'or varj.kÞ ls lEcfU/kr gS\

(A) 18

(B) 17

(C) 20

(D) 19

87. ;fn lEifRr ,d vtkr O;fDr dks varfjr

dh tkrh gS rks og iSnk gksus ij mlesa fgr

izkIr djsxk %

(A) fufgr fgr

(B) lekfJr fgr

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

88. dkSu&lh /kkjk ßlekfJr fgrÞ ls lEcfU/kr

gS\

(A) 17

(B) 18

(C) 19

(D) 21

89. dkSu&lh /kkjk ßfufgr fgrÞ ls lEcfU/kr

gS\

(A) 17

(B) 18

(C) 19

(D) 20

90. dkSu&lh /kkjk ßl'krZ varj.kÞ ls lEcfU/kr

gS\

(A) 20

(B) 24

(C) 26

(D) 25
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91. ‘‘Notice’’ is defined under Section :

(A) 1

(B) 2

(C) 3

(D) 4

92. Transfer of property can be for :

(A) Present

(B) Future

(C) Both (A) and (B)

(D) None of the above

93. Which Section deals with the definition of

transfer of property?

(A) 4

(B) 5

(C) 6

(D) 7

94. Which of the following is not a transfer under

Transfer of Property Act?

(A) Family settlement

(B) Surrender

(C) Partition

(D) None of the above

95. Which one of the following property can not

be transferred?

(A) Chance of heir apparent

(B) Chance of legacy on death of

kinsman

(C) Both (A) and (B)

(D) None of the above

91. ßlwpukÞ dks /kkjk ------- ds vUrxZr ifjHkkf"kr

fd;k x;k gSA

(A) 1

(B) 2

(C) 3

(D) 4

92. lEifRr dk varj.k gks ldrk gS %

(A) orZeku ds fy,

(B) Hkfo"; ds fy,

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

93. lEifRr varj.k dh ifjHkk"kk ls lEcfU/kr

dkSu&lh /kkjk gS\

(A) 4

(B) 5

(C) 6

(D) 7

94. fuEufyf[kr esa ls dkSu&lk lEifRr varj.k

vf/kfu;e ds vUrxZr varj.k ugha gS\

(A) ikfjokfjd cankscLr

(B) leiZ.k

(C) foHkktu

(D) mijksDr lHkh

95. fuEufyf[kr esa ls dkSu&lh lEifRr varfjr

ugha dh tk ldrh\

(A) izR;{k okfjl dh laHkkouk

(B) ukrsnkj dh e`R;q ij olh;r lEink

izkIr djus dh lEHkkouk

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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96. Transfer of property can be :

(A) Oral

(B) Written

(C) Both (A) and (B)

(D) None of the above

97. Transfer of property can be to a :

(A) Born person

(B) Unborn person

(C) Both (A) and (B)

(D) None of the above

98. Condition making interest determinable on

insolvency or attempted alienation will be :

(A) Valid

(B) Voidable

(C) Void

(D) None of the above

99. Which Section deals with that property can

be transferred orally?

(A) 8

(B) 9

(C) 10

(D) 11

100. Which one of the following Section is related

to ‘‘Transfer for benefit of unborn person’’?

(A) 11

(B) 20

(C) 21

(D) 13

96. lEifRr dk varj.k gks ldrk gS %

(A) ekSf[kd

(B) fyf[kr

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

97. lEifRr dk varj.k gks ldrk gS %

(A) tUes O;fDr dks

(B) vtUesa O;fDr dks

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

98. fnokfy;k ;k iz;frr vU; laØke.k ij fgr

dks i;Zols; cukus okyh 'krZ gksxh %

(A) oS/k

(B) 'kwU;dj.kh;

(C) 'kwU;

(D) mijksDr esa ls dksbZ ugha

99. dkSu&lh /kkjk ;g izko/kku djrh gS fd lEifRr

dk ekSf[kd varj.k gks ldrk gS\

(A) 8

(B) 9

(C) 10

(D) 11

100. fuEufyf[kr esa ls dkSu&lh /kkjk ßvtkr O;fDr

ds ykHk ds fy, varj.kÞ ls lEcfU/kr gS\

(A) 11

(B) 20

(C) 21

(D) 13
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


